Name: ____________________________                                                           

Radioactive Decay
Exercise 1:  What is …..

i)  an ( particle?

ii)   a ( particle?

iii)  a ( ray?

Exercise 2: 

1.  Americum-241 decays by emitting ( particles. The transformation process is given by:

[image: image1.wmf]He  +  energy

4

2

 X

 Np

Y

 Am

241

95

+


where X = ______  and Y = ______

2.  Radioactive polonium disintegrates by the emission of an ( particle into lead. Complete the following equation:
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3. The nitrogen (N) isotope decays to become an oxygen nuclide by emitting an electron. Complete the following equation.
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4.
Element                             is used to treat tumours of the thyroid gland. It decays into a new element Xe by emitting a ( particle. Write down the transformation process for such a decay.

